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КD4тк4O 8EтоD8GеEк4O EпD46к4 

До< N=о7о туD8Eт4 Д6оDF4 п8о=еDо6 8<. �. �. �д4=о64 (1952-1990..).  

До< N=о7о туD8Eт4 !�5 7оDодEко7о Д6оDF4 т6оDGеEт64 N=KE. Ф8л84л д6оDF4 
т6оDGеEт64 N=KE �K5оD7Eко7о  D49о=4. � G8Eле 6л4делLFе6 кDуп=KE д4G =4 
!у7д4лLEк8E о7еD4E 5Kл �.�. ЛеEE=еD - 6л4делеF <4H8=оEтDо8телL=о7о 8 
Gу7у=ол8те9=о7о 746одо6. Д4G4 �.�. ЛеEE=еD4 EоED4=8л4EL. � Eо6етEкое 6Dе<O 
7деEL 5Kл До< N=о7о туD8Eт4 Д6оDF4 п8о=еDо6 8<. �.�. �д4=о64, котоDK9 
о5Eлу6864л Dе5Oт, отдKE4NI8E  6 7оDодEк8E п8о=еDEк8E л47еDOE. ОткDKлEO 6 
ко=Fе <4O 1952 7. � =4EтоOIее 6Dе<O (2010) До< N=о7о туD8Eт4 !�5 
7оDодEко7о Д6оDF4 т6оDGеEт64 N=KE (�О'). �Dоект Mто7о 747оDод=о7о оEо5=Oк4 
E 54Hе=ко9 8 E4D4ктеD=K<8 длO <одеD=4 4E8<<етD8G=K< о5Jе<о< 8 пл4=о< 
D47D45от4= 876еEт=K< <4EтеDо< Mто7о Eт8лO - 4DE. Dо= �уко<, EтDо86H8< 6 то 
6Dе<O по 74к47у �. �. ЛеEE=еD4 пDо<KHле==Kе 7д4=8O 746од4.   
 

 

�EтоD8GеEкое Dото №1 – 

�8д =4 д4Gу �.�. ЛеEE=еD4 E 
�4D88=Eко9 ул8FK. 1952 7. 

�EтоD8GеEкое Dото №2 – 

�8д =4 д4Gу �.� ЛеEE=еD4 E о7еD4. 1990 7. 
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ТеE=8ко-Qко=о<8чеEк8е пок474тел8 EуIеEт6уNIе7о о5Jект4: 
�лоI4дL уG4Eтк4 - 501 <² 
�лоI4дL 74EтDо9к8  - 334,9 <² 
�лоI4дL Mт46е9 - 342 <² 
Оп8E4=8е теE=8чеEко7о EоEтоя=8я о5Nект4: 

&еE=8GеEкое EоEтоO=8е ОК�: 464D89=ое 

Фу=д4<е=тK: 5уто6Kе Eтол5K E к8Dп8G=K< Fоколе<. �4<ет=Kе 8EкD86ле=8O 
л8=88 FоколO, 6KпуG864=8е поло6. 
!те=K 8 8E =4Dу6=4O отделк4: Dу5ле==4O 87 5Dе6е= о5H86к4 647о=ко9, 
окD4Eк4 <4EлO=о9 кD4Eко9. � 6е=F4E 7лу5ок8е тDеI8=K 8 7=8лL; <еEт4<8 
EледK EKDоEт8, <еEт4<8 окD4Eк4 утD4Gе=4. 
�еDе7оDодк8: деDе6O==Kе. &DеI8=K 8 747оDK 6 <еEт4E EопDO6е=8O Eо 
E<е6=K<8 ко=EтDукF8O<8 8 потолк4<8. 
�е6дуMт46=ое пеDекDKт8е: деDе6O==Kе утепле==Kе по 54лк4<. �еEт4<8 
7лу5ок8е тDеI8=K 6 <еEт4E EопDO6е=8O 54лок E =4Dу6=K<8 Eте=4<8. 
КDо6лO: 87 оF8=ко64==о7о 6еле74 по деDе6O==о9 о5DеHетке. �еплот=оEтL 

D4лLFе6 8 =4DуHе=8е пD8<Kк4=89, <еEт4<8 пDотеGк8. 
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С8ту4F8о==O9 пл4= 8 EEе<O   

 

E 8=DоD<4F8е9 о Fе==KE Dу=кF8о=4лL=KE EDедо6KE уEло689 8 о5оE=о64=8е 
6K5D4==о9 Dу=кF88 

 

 

 
 

 

 
 

 



 

�D8EпоEо5ле=8е д4G8 �.�. ЛеEE=еD4 

под Fе=тD кD4EотK 8 7доDо6LO 
 

 

Ге=еD4лP=O9 пл4=  
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ПояE=8телP=4я 74п8Eк4  
Фу=кF8O Fе=тD4 7доDо6LO 8 кD4EотK, котоD4O 6клNG4ет <4EE46=Kе 
к458=етK, Eп4-7о=у, E4ло= кD4EотK 8 D8т=еE-74лK, 5Kл4 6K5D4=4 6 
Dе7улLт4те 4=4л874 Dу=кF8о=4лL=о7о 8EполL7о64=8O 7д4=89 6 
D49о=е 6K5D4==о7о о5Jект4 ОК�. Этот 4=4л87 пок474л, Gто 6 окDу7е 
=45лNд4етEO =еE64тк4 EпоDт86=KE 8 о7доDо68телL=KE уGDе6де=89. 

&4к 6е 6окDу7 7д4=8O D4Eполо6е= 8=теDеE=K9 пD8Dод=K9 
л4=дH4Dт: о7еDо E =45еDе6=о9 8 =е5олLH4O п4Dко64O 7о=4. �4 
пD8ле74NIе9 к о5Jекту теDD8тоD88 <о6=о D47<еEт8тL детEкуN 
плоI4дку, п4Dко6ку 8 7о=у отдKE4. �68ду Mто7о 5удут пDо6еде=K 
=ео5Eод8<Kе D45отK, 4 8<е==о: де<о=т46 у6е EуIеEт6уNI8E Eте= 
8 пDоект8Dо64=8е =о6KE, 4 т4к6е DеEт46D4F8O 6=еH=е7о о5л8к4 
7д4=8O : покD4Eк4 7д4=8O по 87=оHе==K< EлоO<, 6оEEт4=о6ле=8е 
87<е=е==о9 7ео<етD88 7д4=8O, 74H86к4 доEк4<8 по6Dе6де==KE 
уG4Eтко6 7д4=8O, 6оEEт4=о6ле=8е утD4Gе==KE Mле<е=то6 7д4=8O. 
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